@ 5 3 6 7 @ 770 ® s

@ 4 7}



2. AA=x, y ol diste] EAPEA A 3x+ 4y = 20 9] SE 5 A2

DO x=2,y=4 @ x=3,y=4 ® x=4,y=1

@ x=4,y=2 ® x=6,y=1



3.

x, y 7F Aol -2 < x < 29 o, uA5TF 2 A4

x+2y = 59] Fe] A4 Fafolat

SR
=%



AAPY A A 3x—ay—5 =0 2] g al|7} (5, 2) ©]th. y =5
Fotolat,



o7t (1, 3) € "W, a-b



2x+y-5a=0

sholat,

?_

O
=

of &t



& mA1%7} 2 4] QAP Alelet.

© x y 7t BE A 0, R &M (x, y) & 749
gel 9l

© x, y 7t AAs+Y o, sl 3 ot
@ x=-34 1, y=10|c}
@ y o ol =5t y = 3x+ 10 ©|ch.

© 00 © 0,06,
® 0,006 @® 09,0066
® 0,0,0, 0



8. A%y, y7}°“:’r o] T o] gh2- 21 0], x 2] 2 HIE 3 0.2 e
2y ol 1 & ghyh 2ok bk, ojuf y o] Zhe?

D 9 ® 10 3 11 @ 12 B 13



9. “ﬂ*1ﬁ2x+@ 6=00°](0, 2), (-3, b), (c, —-2) = H&2 714

=
, 4 a, b, c & Fa+b+c o @20

D 9 @ 11 ® 12 @ 13 ® 15



N7t (-1, 2)

Ay =ax+5%bx+y=—c 9

&

Q7 ® 9 @ 12 ® 13

@D 4



11.

x,y,z ol g o2 A-TFA 0] (x,y,2) =

Al
% pog o Fh& 4 Fstolzt
x+2y+3z=4
2x+3y+4z=p

_ 3x+4dy

o q

[[Fl
||

S

E]

(4,0,0)

1919 5}

Zt7

]



-y+4x=6
T8t
1
=1,b=--
® a 14
:2’b:—
® a 5

o a7} 245 @7 Pt a, b ] 7k

1
=1, b=--
@ a 1

1
=2 bh=—>
@ a 5



p—
w
re
ity
ol
o

>,

3x+2ay+2=0
2x+3(a-1)y-b=0



mE

ey

(x+2)+2 b _ _
rx1{3 o A RRE wE o
X+ 2y =

2k Tatofet.

l
-+

v
m



15.

A4 x yel Hate] 2
SAVE (x,3) 9] 7114—3— et

@D 178 @ 274

® 370

@ 474

O o=z

= \_—lo]"LC— x,y94

® 570



3x+2y-1 2x~¢-y—&—294

16. mA=7k2 W LA A 1 3

(5, k) & ™, k of 27

3 a7}

@D 3 @ 5 3 7 @ 9 3 11



17.

A,B,C A AFE et 2 SRR g

A1EY 5%

B:AZ10 &3¢ 30% 15129
C: AL BN YHR 25 18G7
A ©} B 7} o2 Ao K7t ZopAl =
o2 Mol 7t oA = A2 11 =2 30
E71100 £ o, B <F C 7F 912 4]

acr- Z
(=1 =

Folth. A 7} gL o]

o) 24 Fotofel,



7Hd ),

=
=

o

7k x =10,y =0 °]¢<]

3x+y=kx

gt (H a2t b=

25

o
=

oola-b19 3

s

a}



©9

=, a9 %t

oF
o

A

dx+ay=3

@ 2 B 3

1



—|r1

YD _ 32V g o) mseh o] gl

12 3y=1,
X+ 3y 6 1

.

= A



